Name Core

Solve each expression.
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9. If the volume of a cube is 64. What is the edge length of the cube?
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10. If Tom is making a gift box that has a volume of y cubic inches.

Write an expression that represents the edge length of the gift box.
n /_‘\ o a cu

Y « T N Y VI P AR

1 ™ I ¥ \ Y

’\-hpnk\\uﬁ—'* Y'L w-A ) g,:{/ fird 4w Ia-(h""di,d‘
11. Arectangular garden has a length that is three times itSwidtir. The area of the garden Cach 31

is 147 square meters. What is the length of the garden? Use (3w)(w) = 147.
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